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1. Find a unit vector in R that is parallel to the vector | —1 |.
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2. Find all values of a and b for which the vectors ( b/3

v 1t = /15

-rlew
N

a/2 ) and ( 1/v2 ) are orthonormal.

-1/v2
* Orframpacd [Z[é)(—‘;;) = Sﬁ—i%;z:o&) b= 32
g e I S e
oSL&ﬂL\ -4 = a2z [and e lo:is_gz
Pal = @« (- 405 -4

(2) o (-

o . ﬂ‘:-—SEOMﬁlb-'—‘

A
AT

oa =

)wahnmwvmiffmol ou.ﬁ(f
foad b= F
35z



3.

(2) Find an orthonormal basis for the plane V in R* given by the equation x —y = 0.
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(b) Find the orthogonal projection of X = (l) onto the plane V from part (a).
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4. For each of the following statements, determine whether it is always, sometimes or never true.

(a) Let #, ¥, W be unit vectors in R”. If i and ¥ are orthonormal, and ¥ and W are orthonormal,
then # and w are orthonormal.
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(b) Let V be a plane in R*. Then V has an orthonormal basis.
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